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7. In atriangle POR, P is the largest angle and cos P = 3

Further the incircle of the triangle touches the sides PO, OR
and RP at N, L and M respectively, such that the lengths of
PN, QL and RM are consecutive even integers. Then
possible length(s) of the side(s) of the triangle 1s (are)

(JEE Adv. 2013)
(@) 16 (b) 18 (c) 24 d 22

Solution: -

7. Astheangles A, B, Cof AABC are in AP
s. LetA=x-d, B=xC =x+d
But A + B+ C=180° (£ Sum prop. of A)
S o x—d+x+x+d=180°
= 3x=180° = x=60° ... ZB=60°
Now by sine law in A4ABC, we have

b C b sinB

sin B - sinC ¢ sinC

J3 sin60° | Using b:c=+3:42
= 2 sinC and  ZB = 60°

- N T
J2  2sinC — 'E'Sm

£LC=45°= L A=180°—(LB+.£C)
= 180°—(60° +45°) =75°




